

Vendor Ranking Page 1 of 1

Letting: 08220412 April 12, 2022 02:30 PM **Call Order:** 001 **Contract:** E8T78-R0

District: Turnpike Counties: BROWARD, MIAMI-DADE, Fed Aid No: N/A

Contract Desc: ASPHALT MAINTENANCE - ZONE 1

Contract Time: 365 CALENDAR DAYS

PALM BEACH, TURNPIKE Project(s): 19236817211 (*)

Rank	Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	RANGER CONSTRUCTION INDUSTRIES, INC.	Responsive	Winning bid	\$790,626.00	100.00% Intent to AWARD
2	ASPHALT GROUP, INC.	Responsive	Non-Winning Bid	\$1,160,421.50	146.77%
3	WEEKLEY ASPHALT PAVING, INC.	Responsive	Non-Winning Bid	\$4,538,550.00	574.05%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

POSTING DATE AND TIME: APRIL 26, 2022, 4:00 PM



Tabulation of Bids Page 1 of 6

Letting: 08220412 April 12, 2022 **Call Order:** 001 **Contract:** E8T78-R0

District: Turnpike Counties: BROWARD, MIAMI- Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

DADE, PALM BEACH, Project(s): 19236817211 (*)

Contract Descr: ASPHALT MAINTENANCE - ZONE 1

The work specified in this contract consists of providing all labor, materials, equipment, and incidentals necessary to perform maintenance and repair of asphalt pavement deficiencies and defects, including replacing existing asphalt pavement, paved shoulders, provide paint and thermoplastic pavement markings, and raised pavement markers at various locations on the Homestead Extension Florida's Turnpike (SR 821), Milepost (MP) 0.0 to 46.5; Florida's Turnpike (SR 91), MP 0.0X to 100.0, and Sawgrass Expressway (SR 869), MP 0.0 to 22.5.

Prior to beginning work under this Contract, the Contractor shall submit to the Engineer for approval, two copies of the Contractor's proposed plan and methods for performing the work, including a listing of equipment and personnel anticipated for use

The Contractor shall perform all work during day and night hours in accordance with the Turnpike Lane Closure Policy.

No U-turns shall be permitted as a condition of this Contract, except at Service Plazas.

Night work shall be performed between the hours of 9:00 PM to 5:00 AM, Sunday Night through Friday Morning.

Mobilization item shall be full compensation for mobilization/demobilization per Location, for a routine response authorized by a work order. A Location is defined as item/items of work authorized by a single work order for work to be accomplished within a two (2)-mile length of highway.

NO PRE-BID CONFERENCE WILL BE HELD FOR THIS PROJECT.

CONTRACTOR EXPERIENCE DOCUMENTATION: Expertise and Experience is required in the performance of Asphalt Paving and Pavement Markings. The Experience in Asphalt Paving Form (850-070-01) and the Experience in Pavement Markings Form (850-070-06) must be filled out and submitted to be reviewed by the Department. If a Contractor is presently prequalified with the Department in Hot Plant Bituminous Course, and Pavement Marking it is not necessary to submit the forms.

	No / Item ID Description	Alternate	Quantity Units	(1) RANGER CO INDUSTR		(2) ASPHALT (GROUP, INC.	` '	EY ASPHALT NG, INC.
() indi	icates item is bi	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(ASPHALT REI	PAIR (MECHANIC	AL) (TN				
	0102 14 CONTROL (OFFICER	320.000 HR	94.00000	30,080.00	80.00000	25,600.00	180.00000	57,600.00



Tabulation of Bids

Page 2 of 6

Letting:	08220412	April 12,	2022	Cal	l Order: 001		Contract:	E8T78-R0	
	lo / Item ID Alter		ntity	(1) RANGER CO		(2) ASPHALT	GROUP, INC.		Y ASPHALT G, INC.
() indic	ates item is bid as Lump S	Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001	(ASPHA	LT RE	PAIR (MECHANIC	AL) (TN				
0010 (WORK ZO	0102 60 DNE SIGN	50	0.000 ED	1.10000	550.00	0.30000	150.00	5.00000	2,500.00
CHANNEL	0102 74 1 LIZING DEVICE- TYPE M, OR LCD	•	0.000 ED	0.32000	1,600.00	0.30000	1,500.00	3.00000	15,000.00
	0102 76 BOARD / ADVANCE W. PANEL		0.000 ED	12.50000	625.00	9.00000	450.00	150.00000	7,500.00
PORTABL	0102 99 LE CHANGEABLE MES MPORARY		0.000 ED	20.00000	1,000.00	16.00000	800.00	150.00000	7,500.00
MILLING I	0327 70 1 EXISTING ASPHALT NT, 1" AVG DEPTH	20,00	0.000 SY	5.80000	116,000.00	9.00000	180,000.00	100.00000	2,000,000.00
MILLING I	0327 70 11 EXISTING ASPHALT NT, 2 1/4" AVG DEPTH	,	0.000 SY	12.35000	12,350.00	20.00000	20,000.00	155.00000	155,000.00
SUPERPA	0334		0.000 TN	254.00000	68,580.00	550.00000	148,500.00	1,500.00000	405,000.00
ASPHALT	0337 7 25 CONCRETE FRICTIO INC BIT, FC-5, PG 76	N	5.000 TN	315.00000	240,975.00	500.00000	382,500.00	1,900.00000	1,453,500.00
	0339 1 ANEOUS ASPHALT P		0.000 TN	1,007.00000	10,070.00	1,500.00000	15,000.00	2,500.00000	25,000.00



Tabulation of Bids

Page 3 of 6

Letting	j: 0	8220412	April 12, 2022	Cal	Il Order: 001		Contract:	E8T78-R0	
	No / Item ID Description	Alternate	Quantity Units	(1) RANGER CO INDUSTR		(2) ASPHALT	GROUP, INC.		EY ASPHALT IG, INC.
() indi	icates item is b	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(ASPHALT REI	PAIR (MECHANIC	AL) (TN				
PAINTE	0710 11101 D PAVEMEN ^T ARD, WHITE,	T MARKINGS, SOLID, 6"	2.750 GM	995.00000	2,736.25	750.00000	2,062.50	2,500.00000	6,875.00
PAINTE	RD, WHITE,	Г MARKINGS, SKIP, 10-30 C	5.250 GM DR 3-9	531.00000	2,787.75	400.00000	2,100.00	500.00000	2,625.00
PAINTE	0710 11201 D PAVEMEN ^T ARD, YELLOV	Γ MARKINGS, V, SOLID, 6"	2.750 GM	995.00000	2,736.25	750.00000	2,062.50	2,500.00000	6,875.00
THERMO	12" FOR CRO	TANDARD, WH SSWALK AND	200.000 HITE, LF	2.40000	480.00	1.80000	360.00	5.00000	1,000.00
THERMO	18" FOR DÍAC	TANDARD, WH GONALS AND	100.000 HITE, LF	3.60000	360.00	2.70000	270.00	7.00000	700.00
THERMO	24" FOR STO	TANDARD, WH P LINE AND	100.000 HITE, LF	4.80000	480.00	3.60000	360.00	250.00000	25,000.00
THERMO	0711 11160 DPLASTIC, S GE OR SYMB	TANDARD, WH	10.000 HTE, EA	232.10000	2,321.00	175.00000	1,750.00	300.00000	3,000.00
		TANDARD, WH	10.000 HITE, EA	166.00000	1,660.00	125.00000	1,250.00	300.00000	3,000.00



Tabulation of Bids

Page 4 of 6

Letting:	08220412	April 12, 2022	Ca	II Order: 001		Contract:	E8T78-R0	
Line No / It		nate Quantity Units	(1) RANGER CO		(2) ASPHALT	GROUP, INC.	(3) WEEKLE PAVIN	Y ASPHALT G, INC.
() indicates	tem is bid as Lump Sເ	ım	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	TION: 0001	(ASPHALT RE	PAIR (MECHANIC	AL) (TN				
THERMOPLAS	15101 BTIC, STANDARD-0 HALT SURFACES		5,747.00000	15,804.25	4,333.00000	11,915.75	9,000.00000	24,750.00
THERMOPLAS	15102 STIC, STANDARD-C HALT SURFACES,		6,930.00000	3,465.00	5,225.00000	2,612.50	9,250.00000	4,625.00
THERMOPLAS GRADED ASP	15131 STIC, STANDARD-C HALT SURFACES, SKIP OR 3-9 LANE	WHITE,	2,322.00000	12,190.50	1,750.00000	9,187.50	3,000.00000	15,750.00
THERMOPLAS	15201 STIC, STANDARD-0 HALT SURFACES, ID, 6"		5,750.00000	15,812.50	4,333.00000	11,915.75	9,000.00000	24,750.00
0115 E101 MOBILIZATIO		12.000 LO	16,005.00000	192,060.00	22,000.00000	264,000.00	18,000.00000	216,000.00
0120 E101 MOBILIZATION RESPONSE)	72 N (EMERGENCY	2.000 EA	23,920.00000	47,840.00	35,000.00000	70,000.00	30,000.00000	60,000.00
0125 E706 REFLECTIVE MARKER(REM REPLACE)(CL	IOVE AND	750.000 EA	10.75000	8,062.50	8.10000	6,075.00	20.00000	15,000.00
0001	ASPHALT REPAIR IECHANICAL) (TN)		,	\$790,626.00		\$1,160,421.50		\$4,538,550.00



Tabulation of Bids

Page 5 of 6

Letting:	Letting: 08220412 April 12, 2022		C	all Order: 001		Contract:	E8T78-R0		
Line No / Item		te Quantity Units		CONSTRUCTION RIES, INC.	(2) ASPHAL	T GROUP, INC.		LEY ASPHALT ING, INC.	
•	() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
	Contract G	rand Totals:		\$790,626.00		\$1,160,421.50		4,538,550.00	



Tabulation of Bids Page 6 of 6

Letting: 08220412 April 12, 2022 **Call Order**: 001 **Contract**: E8T78-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.